## RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Authorizing the San Xavier District to submit a FY 2007 ICDBG application to HUD and to administer the grant, if awarded)

RESOLUTION NO. 07-265

1	WHEREAS,	the  Tohono O'odham Nation and the Tohono O'odham Legislative Council support the Tohono C'odham Council support the Council
2		Districts in their efforts to improve quality of life for their community members; and
3	WHEREAS,	efforts to improve quality of life in any one District are beneficial for the Nation as a
4		whole; and
5	WHEREAS,	the Department of Housing and Urban Development (HUD) offers money for housing
6		rehabilitation under its Indian Community Development Block Grant (ICDBG)
7		program; and
8	WHEREAS,	the San Xavier District's Community Center is in dire need of rehabilitation; and
9	WHEREAS,	the San Xavier District, and the Nation as a whole, has a waiting list of community
10		members in need of new housing because they are living in sub-standard housing
11		beyond rehabilitation or are living in a home with one or more additional families;
12		and
13	WHEREAS,	the San Xavier District's Housing Department has a waiting list of community homes
14		in need of rehabilitation; and
15	WHEREAS,	the Tohono O'odham Nation is not applying for the ICDBG this year; and
16	WHEREAS,	the Ki:Ki Association is applying for the Imminent Threat Grant provided under the
17		ICDBG, which does not conflict with the San Xavier District's application; and
18	WHEREAS,	the San Xavier District is eligible for ICDBG funds, as a P.L. 93-638 Title I entity,
19		provided a concurring resolution is obtained from the Tohono O'odham Legislative
20		Council; and
21	WHEREAS,	the SanXavierDistrictiseligibleforICDBGfundsfornewhomeconstructionprovided
22		$it is {\bf deemed}  an  eligible  Community  Based  Development  Organization  (CBDO)  by  HUD;$
23		and
24	WHEREAS,	the San Xavier District Council, at its regular meeting on April 17, 2007, approved
25		$submission\ of\ an\ application\ for\ the\ ICDBG\ and\ requests\ a\ concurring\ resolution\ from$
26		the Tohono O'odham Legislative Council; and
27	WHEREAS,	the  San Xavier District agrees to accept all responsibility for the implementation and all responsibility for the implementation all responsibility for
28		administration of projects conducted under this grant; and
Į		

	RESOLUTION NO. <u>07-265</u> (Authorizing the San Xavier District to submit a FY 2007 ICDBG application to HUD and to administer the grant, if awarded) Page 2 of 3
1	WHEREAS, the San Xavier District went before the Housing and Budget & Finance Committees
2	requesting permission to submit an ICDBG application for the 2007 fiscal year.
3	NOW, THEREFORE, BE IT RESOLVED that the Tohono O'odham Nation Legislative Council
4	authorizes the San Xavier District to submit an application to HUD for the FY 2007
5	ICDBG, requesting funds for housing rehabilitations, new home construction and
6	District Community Center rehabilitations; or, in the event the District is not deemed
7	an eligible CBDO by HUD, to submit an application to HUD for the FY 2007 ICDBG,
8	requesting funds for housing rehabilitations and District Community Center
9	rehabilitations only.
10	BE IT FINALLY RESOLVED that, should the grant be awarded, the San Xavier District will further
11	submit for approval and acceptance of a final budget; and that any changes affecting
12	funding amounts under this grant will be submitted for approval by the Tohono
13	O'odham Legislative Council prior to changes taking effect.
14	The foregoing Resolution was passed by the Tohono O'odham Legislative Council on the ${f 10}^{ m TH}$ . Day
15	of $\underline{MAY, 2007}$ at a meeting at which a quorum was present with a vote of $\underline{1,935.3}$ FOR; $\underline{505.5}$ AGAINST;
16	-0-NOT VOTING; and [03] ABSENT, pursuant to the powers vested in the Council by Section 1 (c)(2)
17 18	& (1) of Article VI of the Constitution of the Tohono O'Odham Nation, adopted by the Tohono O'Odham Nation on January 18, 1986; and approved by the Acting Deputy Assistant Secretary -
19	Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act of June 18, 1934 (48
20	Stat. 984).
21	TOHONO O'ODHAM LEGISLATIVE COUNCIL
22	_
23	0 $0$ $1$
24	Youland I have I as idealine Shairman
25	Verlon M. Jose, Legislative Chairman
26 27	18 day of Mass., 2007
28	$\frac{18}{\text{day of}}$ day of $\frac{18}{1000}$ , 2007
29	ATTEST:
30	
31	11. ~ 1.
32	Shill Sife
33	Lucille Lopez, Acting Legislative Secretary
34	
35	10 day of May, 2007.
36	
37	Said Resolution was submitted for approval to the office of the Chairwoman of the Tohono
38	O'Odham Nation on the \frac{1}{2} day of \frac{1000}{2} day of \fr
39	.M., pursuant to the provisions of Section 5 of Article VII of the Constitution and will become
40	effective upon her approval or upon her failure to either approve or disapprove it within 48 hours
41	of submittal.

grant, if awarded) Page 3 of 3							
TOHONO O'ODHAM LEGISLATIVE COUNCIL   Verlop M. Jose, Legislative Chairman							
	VIVIAN JUAN-SAUNDERS, CHAIRWOMAN TOHONO O'ODHAM NATION						
^	Secretary on the <u>3/</u> day of						
, 2007, Sum John	, at <u>9.3/</u> o'clock, <u>#</u> .M.						
Lucille Lopez, Acting Legisla	itive Secretary						

ACTION: AUTHORIZING THE SAN XAVIER DISTRICT TO SUBMIT A FY 2007 ICDBG APPLICATION TO HUD AND TO

ADMINISTER THE GRANT, IF AWARDED

MOVED: COUNCILWOMAN OLIVIA VILLEGAS-LISTON SECOND: COUNCILWOMAN FELICIA NUNEZ

**DATE:** MAY 10, 2007

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
BABOQUIVARI	1. FRANCES MIGUEL	155.40	x			
310.8	(Vernon J. Smith)  2. FRANCES G. ANTONE (Lucilda J. Valenzuela (Norris))	155.40	X			
CHUKUT KUK	1. ETHEL GARCIA	129.35	x			
258.7	2. VERLON M. JOSE (David Garcia)	129.35	X			
GU ACHI	1. TIMOTHY L. JOAQUIN (Jonas Robles)	110.80	x			
221.6	2. CYNTHIA E. MANUEL (Louis L. Johnson)	110.80	X			
GU VO	1. RAYMOND VICTOR	96.55	x			
193.1	2. MICHAEL FLORES (Grace Manuel)	96.55	X			
HICKIWAN	1. SHIRLEY SANTOS-MOLINA	83.70	x			
167.4	2. SANDRA ORTEGA	83.70	x			х
PISINEMO	1. BARBARA SALVICIO	85.90	x			x
171.8	2. GERALD FAYUANT ( )	85.90	x			
SAN LUCY	1. LORRAINE EILER	84.50	X			
169.0	2. GLORIA RAMIREZ	84.50		X		
SAN XAVIER	1. FELICIA NUÑEZ	96.90	X			
193.8	2. OLIVIA VILLEGAS-LISTON (Eileen A. Estrada-Lopez)	96.90	x			
SCHUK TOAK	1. FRANCES B. CONDE	73.45	X			
146.9	2. PHYLLIS JUAN	73.45	x			
SELLS	1. MARLENE SARAFICIO-JUAN	210.50		х		
421.0	2.EVELYN B. JUAN MANUEL ** (Kimberly Listo)	210.50		x		
SIF OIDAK	1. WAVALENE ROMERO	93.35	х			
186.7	(Isidro Lopez) 2. DARLENE ANDREW (Rita Wilson)	93.35	X			х
	TOTAL	2,440.80	1,935.3	505.5	-0-	[03]

<sup>\*\*</sup>PASSED VOTES